PROFESSIONAL EXAMINATION
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@ board 2017

315t Aug 2017 09:00AM

Topic:- General Knowledge and Logical Knowledge

1) On which book is the movie ‘Kai Po Che’ based? /ﬁv_cq ’ﬁﬂ% o= WWW 3ryTRe %?
1. Olympus / ey

2. The 3 Mistakes of My Life / 3 THRCH {1t 710 8%

3. The God of Small Things / & TS 3% Id I/

4. One Amazing Thing / d- SrafenT faT

Correct Answer :-

« The 3 Mistakes of My Life / 3 i3I AN NIESZ

2) Which city has Bina Refinery, also known as Bharat Oman Oil Refinery, a joint venture between
Oman Oil Corporation and Bharat Petroleum Corp? / CaEk RIGES H a1 Rt % o URa
3 da RepTe8t off ST 1T 8, 57 31U HTad SITRRA 3R YR Ueieran &1 & St
HYed ITH R?

1. Satna / I d-l
2. Ujjain / IooI
3. Chanderi / ﬂ'aﬂ

4, Sagar /{'R

Correct Answer :-

e Sagar /HIR

3) Which constitutional amendment established the Panchayati Raj in India? JAG 2| Tauifre
MY URA H YR ITST B RATYT B 52

1. 22" Amendment / 2297 dxqe
2. 75! Amendment / 759 e

3. 65" Amendment / 6591 TRe
(2)



4. 73" Amendment / 7391 I
Correct Answer :-

o 73" Amendment / 7391 gy

4) Hindola Mahal and Jahaz Mahal are both located in___./ %@ﬁ?ﬂ Hed Gﬁ?' Siglvl Hed aT-ﬁ'
_ #fREg

1. Mandu / HIg

2. Bhojpur / 'J-nTTTQT

3. Rewa / aT

4. Rajgarh / X[ol7l@

Correct Answer :-

 Mandu/Hlg

5) Ashoka belonged to: / 3R T & Hefea 3
1. Gupta dynasty / [t Gyl

2. Maurya dynasty / AR gy

3. Kushan dynasty / STOT I=T

4. Saka dynasty / R IxT

Correct Answer :-

» Maurya dynasty / i 99

6) Karera Sanctuary is established in the year. / P ARG ERKIGE T =AU gOIT YT
1. 1988

2. 1981

3. 2000

4. 1991

Correct Answer :-

e 1981

7) How many High Courts operate in the country? / = A foram S=1 <araTerg Sarterd %'?

1.29

3)



2.24
3.27

4. 22

Correct Answer :-

e 24

8) The Finance Commission is appointed every / o ST Pl & 33% qul & ﬁgaa o e %
1.5 years/5 gy

2.3 years/3 G

3.2 years/2 Y

4. 4 years/ 4 ayf

Correct Answer :-
e Syears/5 G

9) The first Indian state to achieve 100 percent primary education is ./ 100 fa=Ta Urdyfire
FRr&Im UTed A arel ugen WRdH Iy gl

1. Gujarat / T[oIRTd

2. Tamil Nadu/(‘lltlﬂ'_'llg
3. Kerala / d

4. Delhi / feeit

Correct Answer :-

e Kerala/®3d

10) The term ‘Chinaman’ is associated with / XT3 "R 399 Tafda g
1. Football / W_@ﬁ?’[

2. Swimming / GRES

3. Cricket / fhdbe

4. Tennis / <9

Correct Answer :-

« Cricket / fohde

11) Who is the current Chief Minister of Maharashtra? / HERTY & a9 E’@Iﬁ CaE| %:?
4)



1. Devendra Fadnavis / éaa HSUEN
2. Vilasrao Deshmukh / ICNIESRIG] m
3. Sharad Pawar / RR¢ UdR

4. Bal Thackeray / dIcT BTN

Correct Answer :-

e Devendra Fadnavis / 333 HIUEN

12) Who is currently the Union minister of Textiles? / I § 9% & "Eg w5t Cac| %'?
1. Radha Mohan Singh / XTHT IﬁB:r ﬁl_s'

2. Smriti Irani / Fzﬂ%f '&Fﬁ

3. Maneka Gandhi /f{:m et

4. Sushma Swaraj / JYHT T[S

Correct Answer :-

 Smriti Irani / F{[ﬁf ENEIl

13) Who is the Cabinet Secretary of India? / HIRd bT CACE kg I %?
1. Shyamala Gopinath / RUTHAT MY

2. Pradeep Kumar Sinha / UdJ PHR K]

3. S Jaishankar / T STARIR

4. R K Dutta / 3R & &l

Correct Answer :-
« Pradeep Kumar Sinha / Uc1d $HR R8T

14) Who is the Union Minister for Science and Technology? / fa'ﬂ'l:l' aﬁ?tﬁ@ﬁﬂﬁﬂ?#gﬂﬂﬁaﬁq
a2

1. Harsimrat Kaur Badal /mﬁ?w

2. Narendra Tomar/W?ﬁﬂ?

3. Uma Bharati / 3HI YRt

4, Harsh Vardhan /Eﬁﬁf‘i&[

Correct Answer :-

e Harsh Vardhan /E’Q‘H‘éﬁ



15) Anti-Leprosy Day is observed on / B I 3 fead P AT AT B |
1. April 25t / 25 30

2. January 30t" / 30 SHAY

3. December 15t/ 1 fGIRR

4. July 3" / 3 [T

Correct Answer :-

e January 30" / 30 SHa3

16) Cow Sanctuary in Madhya Pradesh is located at: / HH FI%EZT Y AYIRY 1 =M R fRUG

@

1. Pachama (Sehore) / T=HT (RIER)

2. Salariya (Agar) / TQIRAT (3R)

3. Mangaliya (Indore) / HTIRIT (3<R)
4. Bandol (Seoni) / S&Td (RI3{)

Correct Answer :-

« Salariya (Agar) / SaIIAT (3TR)

17) is India's first dedicated space observatory launched in 2016. / HRd &I UYH

Tt iaivar dU=TeT & foTaeT Uaur 2016 ® f5am T AT
1. CARTOSAT / BIciIe
2. SARAL / IRd

3. ASTROSAT / TRIRIC

4. Kalpana—1/®cUT -1

Correct Answer :-

- ASTROSAT / TERIT

18) Which yogana intends to rid villages of filth and mud and create atmosphere of sanitation. JAG 2]

TS BT I£=T Tl Pt TSt TUT Pl A Yo BT 9T WS I1araR0l o1 fafor w-r g2

1. Ladli Laxmi Yogana / TS ci A&HT o]

2. Mukhyamantri Gram Sadak Yojana /H’@?ﬁ_ﬁ WW@W
3. Nandishala Yogana EFEIKIR ISR
4. Panch Parmeshwar Yojana / U TRERGR ol

(6)



Correct Answer :-

e Panch Parmeshwar Yojana / U TRERGR TSl

19) Which Indian won the 2017 Australian Super Series Badminton tournament? / g yRdg A 2017

AT R e dsfiies Qo ufaaifar sfi<dh <f»
1. Nanda Gopal / &I TTaTal

2. PV Sindhu / O 9t iy

3. Kidambi Srikanth / fball diepic

4. Sai Praneeth / TS WU

Correct Answer :-

e Kidambi Srikanth /W fiwid

20) Select the option that is true about the Statements and Conclusions given:
Statements:

All flowers are seeds

No petals are flowers

Conclusions:

I. No petal is a seed

I1. All petals are seeds

1 39 fApeu BT Tg1 P i faw U HY= ik fAreepul F IR A Il 8 :
DY:
GRIRvCioRd

ﬁémﬁ%ﬂﬁ%

L ﬁémﬁwa’mﬂ%ﬁ%
1. g vgdt e &

1. both conclusion I and II follows / sy 1 3R 11 g S{FHRUT A %

2. either conclusion I or conclusion II follows / TT dl ey 1 a1 e 11 SR GIEG| %
3. only conclusion I follows / Had ey 1 HHIUT Hdl %

4. only conclusion II follows / Had e 11 S{FHIUT Dl %

Correct Answer :-

« either conclusion I or conclusion II follows / AT @l FsBY 1 a7 e 11 STTERUT B %

21) If paper is called wood, wood is called straw, straw is called grass, grass is called rubber and rubber
is called cloth, what are tyres made of? / gfe paper B wood Dl SIldl %, wood B\ straw gl SIldl %, straw
C] grass Pel SITdl 2, grass DY rubber TET ST & MR rubber B cloth HET STGT 8, A1 <R farsd <iwt &1
T BT 32

1. Cloth
(7)



2. Grass
3. Rubber

4. None of the above / 57##7‘5:“’#%#73‘?

Correct Answer :-

o Cloth

22) Complete the series choosing the missing nhumber: / W 8= gAY %I_'@?IT G| T

FIfor:
3,6,520,7,42,9,
1. 66

2. 54

3.72

4. 60

Correct Answer :-

23) Complete the series choosing the missing number: / T I GAH YT DI GRT

HIfoTg:

12, 32, , 152, 312
1.74

2.75

3.70

4.72

Correct Answer :-

24) Complete the series choosing the missing number: / & G- DT YT BT TR

FifTg:

21, 25, 33, 49,
1. 80

2.75

3. 81

4.72
(8)



Correct Answer :-

25) CANCELLED

Swami Vivekananda attended the conference of World Religions in 1903 at / T ﬁﬁm = 1903 ﬁ,
TgT STafora fay el & awters § Wi fera o

1. London / WG
2. New York / ?{ﬂ"%
3. Tokyo / I
4. Chicago / fRrepr

Correct Answer :-

e Chicago / BEad

26) The series given below contains a sequence of numbers. Identify the incorrect combination: /R ff

TS oadr ¥, TBAsil &1 U HH SUTRUT & | Tad Sae Ugi=e:
4,9,19, 40,79

1.4

2. 40

3.9

4.79

Correct Answer :-

27) Find the odd one out: / U faum JId a’ﬂ'ﬁm:
115, 100, 90, 70, 45, 15

1. 100

2.90

3.45

4. 70

Correct Answer :-

« 100



28) Two dice are thrown simultaneously. What is the probability of getting a sum, which is a multiple of 4.

/S UTY TP 1Y Urdp W § | S8 THT ART 9T = D1 Wit w1 & i 4 7T qons 8
1
1. 9

1

.
=

ta][]

Correct Answer :-

29) Complete the series choosing the missing letter/s: / &l S&IR/HERT DI IADR Yl Cal QRTW:
aab_a bb_a

l.a,b,b

2.a,b,a

3.b,a,b

4.b,a,a

Correct Answer :-

30) A is taller than B who is shorter than C. D is taller than E but shorter than B. C is shorter than A.
Who is the tallest? / A, B T GaT 8 Wi {6 C A BT 1 D, EA AT 8 APTBABICI§1 C, AA BTl
HaH GdT DI 62

1. E
2.C
3.A

4.D

Correct Answer :-

31) The series given below contains a sequence of numbers. Identify the incorrect combination: /=R ?ff
TS aar §, TSl &1 TP HH SUTRIT & | T il Ugdn-g:
(10)



325, 259, 202, 160, 127, 105, 94
1.202

2. 94

3.127

4. 259

Correct Answer :-

e 202

32) How many 5-digit numbers can be formed with 0, 1, 2, 3, 5, which are divisible by 2? / 3Pl 0,1,2,3,

5,9 5 3 arelt T et Ty ffia gt It & ot 2 & wsa g2
1. 42
2.24
3.72

4. 60

Correct Answer :-

e 42

33) Select the option that is true about the Statements and Conclusions given:
Statements:

Some thieves are robbers

All burglars are robbers

Conclusions:

I. Some burglars are thieves

I1. Some robbers are thieves

/ 39 fared &1 994 HIfoe wife feu MU Syt iR fAepuf F IR A ISt 2
DYA:
PO ARSIR &

a4 SR 1% §

e

1. O GUAR IR §

LSS AE

1. both conclusion I and II follows / FsHY I 3R IT GHI 3fIERUI B &

2. neither conclusion I nor conclusion II follows / 7 &1 femt 1 3R 7 81 sl 11 ST CRGE
3. only conclusion I follows / Had ey 1 IR pdl %

4. only conclusion II follows / Pad s II STFURUT pdl g

Correct Answer :-

(11)



« only conclusion II follows / Had ey 11 STTIRUT Hdl %

34) Select the option that is true about the Statements and Conclusions given:
Statements:

All doctors are surgeons

Some doctors are homoeopaths

Conclusions:

I. Some homoeopaths are surgeons

I1. All homoeopaths are surgeons

/ 39 fared &1 Ig4 HIfoe wiifer e T syl iR fAepuf p aR A St 2
DY:

Tt ST Toi @

PO Slac sIUfS &

ﬁ'ﬁﬂf:

1. $O SRS Toid &
1. Tt ST Hol &

1. both conclusion I and II follows /ﬁWﬁfI 3R 11 gt STTERUT GG %‘

2. neither conclusion I nor conclusion II follows / - Epf ﬁ'@?ﬁfl GﬁT Cl _pr ﬁmﬂf IT 3{FIRUT GG %
3. only conclusion I follows / Fad (=py 1 S{THRUT Dl %

4. only conclusion II follows / Pad s I STPHRT] pdl ?

Correct Answer -

 only conclusion I follows / Had FIpY 1 SITIRUT Hdl %

35) Select the option that is true about the Statements and Conclusions given:
Statements:

No charms are harms

No balms are harms

Conclusions:

I. No balms are charms

II. Some balms are charms

/ 39 famed &1 I+ Hifere wiife feu T Sy=T iR Fepuf parR a w2
DY:

&S ol grf el §
ﬁ%amsm‘ﬂé’r%

I ﬁimmﬁqﬁ%
IL O A IH g

1. both conclusion I and II follows / f5GH I 3R 11 GIFI SFIERUT &R ©
2. either conclusion I or conclusion II follows / aT dl ey am Py 1T 30T FId %

3. only conclusion I follows / drad FSHY I IR0 HRl §

(12)



4. only conclusion II follows / Had e 11 SIFART] Dl %

Correct Answer :-

e either conclusion I or conclusion II follows / IT df fshY 1 77 fAsh Y 11 SR HId %

36) In a certain code language, rng gat goz mpqg means Integrated Rural Development
Programme, tyho rng fem means Improved Rural Economy, and mes rds tyho means Urban
Economy vitalisation. Which is the word for Improved in that code language? /Td W™
CAERYIL I ﬁ, rng gat goz mpqg &1 3 of Integrated Rural Development Programme; tyho rng
fem &1 344 Improved Rural Economy AUl mes rds tyho 1 3 & Urban Economy vitalisation

B.HT%I Wﬁ%’ T # Improved%ﬁmm‘rw?ﬂ{\‘%mﬁmw%?
1. goz
2. rng
3. tyho

4. fem

Correct Answer :-

37) If TANGENT is coded NATGTNE, then how is MUSTARD coded? ? / af¢ TANGENT |

NATGTNE R Dif$d forar oran 8, @t MUSTARD Ft 1 wifsa forar s
1. SUMTPRA
2. SUMTDRA
3. DRATMUS

4. MUSTDRA

Correct Answer :-
o SUMTDRA

38) If MONKEY is coded YEKNOM, then how is REMEDY coded? / afe MONKEY B YEKNOM

Pifsd far irar 8, @ REMEDY ) & HIfSa far smam?
1. RDEMEY
2. YEDEMR
3. YDEMER

4. YREMED

Correct Answer :-
« YDEMER

(13)



39) If VICTORY is coded YLFWRUB, then how is SUCCESS coded? / qﬁ VICTORY ﬁ' YLFWRUB
T Pifed {1 &ITa1 8, df SUCCESS &1 3 sifsd fohar SRmm?

1. VXEEIVV
2. VYEEIVV
3. VXFFHVV

4. VYFFHVV

Correct Answer :-

» VXFFHVV

40) Choose the number which is different from others in the group: / 3 J&IT T T4 P
e ¥ e J AT @

10, 21, 24, 26
1.21
2.24
3.26

4. 10

Correct Answer :-

Topic:- Mental Ability and Mental Aptitude

Which of the following is [ess thanﬁ%?/ﬁiﬁﬁ'@ﬁ H T i 6% T &H &7

—
&0 | L
_I_
Ly
Lid | —

Correct Answer :-
(14)



2)

! i 11 W

1.
2.
‘I“" .Y
3. —
A
q"j H\‘n
4,

3)
Acircular park has a square swimming pool of dimension 130 m x 150 m. Ifthe land area of the park is
116100 sgm, what is the diameter of the park? [ Ud dedlebld 3631 # Tk 150 'rFiIH % 150 H [}

ITATH &7 dAMBR a7 JRl §1 ATG 3EA T 91ff 86T 116110 GIACL § Al 3620 I
AT T Gam?

1.400 m /400 HIR

(15)



2.420m /420 HicR
3.200 m /200 Hic?

4.210 m /210 HIX

Correct Answer :-

e 420m /420 Wi

The value of x which makes

AT &
1.23
2.2

3.1

4.8

Correct Answer :-

5)

o | ,l ."l“w,
o | < » 2
__,147._. ‘C'
1 11 ¥ l
. .
e >
. v
1.
.—""? 2
S|
N
2.
T
3. .

(16)



4.

Correct Answer :-

6)

If the following two squares shown below overlap, which one of the following options is formed? { e,

AT geT 7w 27 991 Hioeamg £ o e § ¥ i 91 o [AeeT aear &7

f’ ~
.a"'. \\-. ‘
o .,

”Vl'l[r\-

7) Which of the following has fractions in ascending order? / fFaferfea & & feg & g
ARSI HU A &2

(17)
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Correct Answer :-

8) Which one of the following four addresses is NOT EXACTLY same as the one given

below? / 5 f3d 1A R val & | #1991, = 33 T uq & foepa 9= 81 82

Gerhard
Leimkugelstr. 13,

SchOPpenstedt, 38170

(i) Gerhard

Leimkugelstr. 13,

SchOPpenstebt, 38170

(ii) Gerhard

Leimkugelstr. 13,

SchOPpenstedt, 38170

(iii) Gerhard

Leimkugelstr. 13,

SchOPpenstedt, 38170

(iv) Gerhard
(18)

Leimkugelstr. 13,



SchOPpenstedt, 38170

1. i

9) During a certain military drill, when 6,440 soldiers were asked to line themselves in
rows such that they maintain an equal numberof soldiers in each row to form a perfect
square, it was found that 40 soldiers had been left out. In this case, how many soldiers
were standing in each row? / T RIS =7 3 & R, 9 6,440 D] I WU 39 TSR
tfeRTal a9 F fore w1 T R 7 vl ufes o wae e § fe o ot ud e gl ot a9
T, ot I T T 5 40 A F S four mm U1 39 RUfa § vl died | fhan e @2 A7

1. 40
2. 80
3. 64

4. 60

Correct Answer :-

« 80

10) In a college, out of 850 students, 230 play cricket; 250 hockey and 360 basketball. Of
the total, if 75 play both basketball and hockey; 68 play cricket and basketball; 37 play
cricket and hockey; and 30 play all the three games, how many students don't play any

games at all? / T& Helfaamad #, 850 faenfdal # T 230 fvdre, 250 giw! Ud 360 TRbedid
Qad g1 afe @ § A, 75 IRPbedld Td gld! gl Wad 8, 68 fhde Td IRdedla Wad 8, 37
fordre Td gial Wad & Td 30 i fiF Wa Ward 8, af foram faemdf &8 o @ 78 Qe 82
1. 140

2. 160

3. 130
4. None of the above / IWRIad H ¥ BIs 78!

Correct Answer :-

11) Raman sells his old bicycle at Rs. 1280 and loses 20%. At what price would he have

bought the bicycle? / I 3 3T R ATSHa 1280 TUA WX 911 o/ 39 20% &1 g1
g1 S e Iou R 39 Arsferd & @ier ghm?

(19)



1. Rs. 1760 / 1760 3Ud
2. Rs. 1600 / 1600 3UY
3.Rs. 1900 /1900 Uy

4, Rs. 1650 / 1650 3T

Correct Answer :-

« Rs. 1600 /1600 3Ud

12) The total age of A and B is 12 years more than the total age of B and C. C is how many
year younger than A. / A Td B &1 $ 31, B U4 C ©1 $& 3T A 12 a9 3% &1 C, A | fba=m
9 Bler 81

1. 11
2.13
3.14

4.12

Correct Answer :-

e 12

13) A and B can together finish a work in 30 days. They worked together for 20 days and
then B left. After another 15 days, A finished the remaining work. In how many days A
alone can finish the job? / A Td B U®% &1 &I 30 faAT #f TuTW #% Tbd &1 9 TP A1y 20 oY
TP BRI B & IUYT B BIS S1al g1 15 a1 e, A /A9 w1 &) T Hrar 81 fram e A A
U 39 BT Bl T Y Dl o2

1. 45 days / 45 f&d
2. 30 days /30 fae
3. 40 days /40 faq

4. 35 days /35 f&q

Correct Answer :-
« 45days /45 fad

14) Two pipes can fill a tank in 10 hrs and 12 hrs, respectively, while the third can empty it
in 20 hrs. If all the pipes are opened together, how much time will it take for the tank to be

filled up? / & FTAT <P B HH: 10 TF 12 G H WX Tbdl &1 SG1P IR Telt <ol &I 20 e A
@ R ot 21 TS T € IHa § geft Afert get €, @Y St B wRA H e I @i

1. 10 hrs / 10 9¢
2.7.5hrs /7.56¢

3.8hrs /8%
(20)



4.95hrs /9.59¢

Correct Answer :-

« 7.5hrs /7.5 9¢

15) Ten men earn Rs.200 each per day. Find the average money earned per day by the 10
men when the money earned per day is halved for everyone./ &8 G&Y Ufdfe 200 ¥0d
FUTA §1 10 =9l gRT ufafes sifofa em=ifr &1 sivra 3ma &3 wiafe wfafes sivfa emf¥r aft &
o1 ameht 21

1.Rs.110/ 110 30
2. Rs.105 / 105 30
3. Rs.100 / 100 3T

4,Rs.115 /115309

Correct Answer :-

 Rs.100 / 100 3T

16) Value of 2180 / 0.4 is: / 2180/0.4 &T H &:
1. 5450

2. 9550

3. 7450

4. 8245

Correct Answer :-

e 5450

17) Jay started a business investing Rs. 12,000. After four months, Ajay joined him with a
capital of Rs. 16,000. At the end of the year, they made a profit of Rs. 5,100. What should

Ajay's share be in the venture? / S99 12,000 IUT FT =T = T AT R fHar| IR
HE UL, 16,000 TUY FT Yot & WY 36T ITH FfAferd 81 11 a¥ & 3id # S 5,100 FUY
BT AT HHTATI 59 SeH § 3619 BT 32T T g7 I1feu?

1. Rs. 2,400 / 2,400 ST
2. Rs. 2,700 /2,700 30
3. Rs. 3,600 / 3,600 SUI

4. Rs. 3,200 / 3,200 3T

Correct Answer :-

e Rs. 2,400 /2,400 SUY



18) Mohan bought 5 dozen eggs at Rs. 20 per dozen, 7 eggs were broken. Find his

percentage loss. / WIg 20 U Ul gold W 5 goi 33 Wilqar 81 7 8iS ge &1 3TP I+ o1
wia=Td 91 B

1. 11.62%
2.12.65%

3.13.16%
4. None of the above / SR H I Hﬂ'ﬁf T8l

Correct Answer :-

e 11.62%

19) A dealer marks his goods at 35 % above the cost price and allows a discount of 20 %
on the marked price. Find his gain or loss percent. / Th faspar st aT\jéﬁ P B qq I
35% HUR 3ifhd HdT § Td IR ST W 20% B Fe UM Rl 8 | 3P a1y Sydl i &1
aferre JTd H |

1.6%
2.7%
3.8%

4.5%

Correct Answer :-

20) If six workers are required to make 18 desks in 12 days; then, how many workers are

required to make 36 desks in 24 days? / af¢ 12 fa=1 & 18 AWl & 991 & forw o8 4ffw! #1
ATaRGHdI gl g dl 24 &1 ¥ 36 Aol &) T & Y fvam ¥ smaza® €2

1.5
2.6
3.7

4.8

Correct Answer :-

21) A man at present is 4 times as old as his son. In 20 years, if he will be only twice as old
as his son, then the present age of the son is: / T® Waﬂmﬂm o 3= 9A 4 RIS LIS
21 20 qut §, Tfg 98 oM UF & Had T 91 g1, f IF $t add I &t

1. 20 years [/ 20 Ty
(22)



2. 10 years / 10 G
3.12 years /12 L

4. 14 years / 14 CL

Correct Answer :-

o 10 years / 10 o9

22) An aeroplane covers a certain distance at a speed of 240 kmph in 5 hr. To cover the
same distance in 4 hr, it must travel at a speed of / U% g4l S8l 5 Ue H 240 fHHt ufy e
s I AR P msa i gis s R AT s Ffowsa G|
T & &1 BT AR

1. 280 kmph / 280 Tl Tfcy Her
2. 300 kmph / 300 fadit Ufd €er
3. 325 kmph / 325 foH! ufd der
4. 275 kmph / 275 f&H Ofd der

Correct Answer :-

« 300 kmph / 300 fodt ufd der

23) Rahul is older than his Sister by 4 years. If the sum of the ages of Rahul and his Sister
is the Square root of 324, then find the age of Rahul. / JTgd U1 98- ¥ 4 99 FeT 71 T
G T ITBT T8 DI 3T BT AT, 324 BT FYA 8, Il A DI 3T FId B3

1.11
2.12
3.9

4.8

Correct Answer :-

24) The series given below contains a sequence of alphabets and numbers. Identify the incorrect

combination: /ﬁa'ﬂg mﬁ, ar&ﬁqam@ﬁmmamﬁ%a%l Td AN 1 UgdM:
i.derri0215deirr

ii.derrl0215deirr

iii.derri0215deirr

iv.derri0215deirr

1. iii

(23)



25) Find the average. / Gﬁﬂﬁ"ﬂﬁaﬁl
70, 76, 82, 88,94 & 94

1. 87

2. 88

3.86

4. 84

Correct Answer :-

26) Today, the age of a father is thrice the age of his son. After 5 years, the age of father
will be 2.5 times the age of his son. The age of son today is: / 35 & &, fiar Ft oMy ITF
T $t g A 9 AT 21 5 9 ugra, far St g g B g B 2.5 THT 8 SNl e & faT g
P A &

1.22 years /2299
2. 20 years /20 ay
3. 15 years /15 GLj

4. 18 years /18 g

Correct Answer :-

o 15vyears /15 L

27) A person travels a distance of 30 km by car at a speed of 60 kmph and a distance of 50
km at a speed of 25 kmph by bus. What is the average speed? / W?ﬂ% PR §RT 60 Tt
i ge1 &1 i | 30 oY g 77 Har § Td 99 gR1 25 f5 uf ger @1 afa @ 50 {5 @ gh
T Bl g1 S i w82

1. 25 kmph / 25 foet ufd ger
2. 30 kmph / 30 fodt Ufd Her
3. 32 kmph / 32 fobdt Ufd wer

4. 40 kmph / 40 fod! ufd et
(24)



Correct Answer :-

« 32 kmph / 32 fobdt Ufdl et

28) Imran has Rs. 1,200 when he goes to the market. He buys 2 shirts for Rs. 350 each, a book
for Rs. 110 and spends Rs. 75 on buying fruit. How much money is he left with? / W$ g
1,200 93 ¥ 9q 9§ IR TT| S 350 U Ul SIS Bt &= & 2 FHiw WiIdl, 110 90 Ft
TP [P TG Td Bdl Tter & T 75 303 @ frd | Sudb ure fara=it e=if o=t @2

1.Rs. 315 /31530
2.Rs. 180 / 180 TUY
3. Rs. 285 /285 Uy

4. Rs. 390 /390 3UY

Correct Answer :-

e Rs.315 /31530

29) A fun fair had an entry fee of Rs. 250. The fee was reduced by 20 % and the revenue from
sale of tickets increased by 12 %. What is the percentage increase in number of visitors? / Tdh

TR A HT U YD 250 U 2| b B 20% w4 forar mar R fede & fawpa 3w
oG | 12% F g g3 1 Nige! &) T=n ¥ gix o1 ufara w32

1.52%
2.40 %
3.46 %

4.20%

Correct Answer :-
e 40%

30) A student scores 90%, 66%, and 54% marks in the test paper with 100, 120, and 150
respectively as maximum marks. The percentage of his aggregate is: / Th faemdf 3 100, 120 Td

150 3ifireay il arat Utel Uyusl # HHRN: 90%, 66% Td 54% 3 ifeld f$a &1 39F $a
TN BT fa=Td &

1. 72%
2. 68%
3. 65%

4. 70%

Correct Answer :-

* 68%



Topic:- Science and Simple Arithmetic

1)
In the adjoining figure, 1 || m and’t” is the transversal Find the value of (x - ¥} / oo e o A, 1 || m
v FAIET Bl (x-¥) HT AT AT B

-
[

-1

Ay ’
| -:i-/')'/lt+ i |

2)
In the given figure, If 2zCAB = 60°, 2ABC = 35", then <ADB = L BT =
&, afg 2CAB = 60°, +ABC = 35°%, @ 2ADB = |

\ v B
1.75°
2. 85°

3. 55°

4. 65°

Correct Answer :-

e 85°



= | L

i x {(%)2}’2 w0 37 s 47

4, 123

Correct Answer :-

4)
1

2

I (x —i) = 12, then the value of x° +$ is: /A (x —%} =12 & arx* + &I HI=T I

1. 146
2. 148
3. 140

4. 144

Correct Answer :-

- 146

5) Find the T.S.A (in cmz) of a cylinder whose diameter and height is 28 cm and 16 cm, respectively. /

Qﬁ?mwmmmﬁ.%mﬁﬁﬁmamm: 28 T, 3R 16
LBl

1. 2460
2.2230
3. 2320

4. 2640

Correct Answer :-



6) A biosphere reserve is divided into: / Slavsd R E:Iﬁ fayrfora fosar war %:
1. Five zones /tﬁlﬁ ?33?['13[
2. Four zones / IR &1 H

3. Six zones / 88 REIRE]
4. Three zones / I E’Hﬁ’ff{

Correct Answer :-

e Three zones /?‘ﬂ:T éﬁﬁﬁ

7) When acid is diluted, the concentration of hydronium ions in the solution . / SId 3T

TIPA T e, Al AT A eSS an AT S g |
1. increases / H gfa g1 &

2. does not change / 7 URafdd T g1 3

3. decreases / H HHI Bl §

4, cannot be measured/?ﬁ HTQTH%DfGITW%

Correct Answer :-

* increases /f{' q@@?ﬁ%

8) If an angle 'x' of a parallelogram is 24° more than its adjacent angle, then the value of 'x' is: /'qﬁ

TP GHIAR TGS BT DIV 'x' THP AT~ DI A 24° 3ifF , 1 'x' BT A SIm:
1. 110°
2. 102°
3.98°

4.76°

Correct Answer :-

o 102°

9) If one member of a pythagorean triplet is 10, then the other two members are: /"CI'%T-I'I'E'{%I'IThW
9 &1 t& ¥ew 10 7, 91 39 ¢ Hew B

1.15,17
2.35,38
3.63,65

4.24 ,26

(28)



Correct Answer :-

10) Vertical gardening on Metro pillars and Expressway pillars has been undertaken in Bangalore.
This will help in serving: / CURIRE:| ﬁ?f & THY 3R TR AFT & W IR HeafeR aRTart &1
ST YR f5ar T 71 §99 39H Heg frer:

1. More oxygen emission onIy/ﬁﬂ:% 3B 31Td{-InI\JH dc{-l\flr'i
2. Green landscape only /Wsﬂm@

3. Air purification only / WWQJ@W

4. All of the above /Guﬁaawﬁ

Correct Answer :-

« All of the above / G'Cl'éa?‘f it

11) An object placed at the bottom of a tank filled with water appears to be at a depth smaller than its

actual depth. This is due to: /W'ﬁ"\‘ﬁﬁ'ﬁ@ Wﬁﬁﬁﬁ?@%ﬁﬁ?mmw
A P TEITS W T g% [GwTs usdl 31 THI b SR 61T o

1. Dispersion / faiu
2. Refraction / 30T
3. Total internal reflection / ¢l S{TcRes URTad
4. Reflection / TRTA

Correct Answer :-

e Refraction/ &rqa?h

12) The sum of three consecutive multiples of 7 is 840. The smallest of these multiples is: / 7 & d=

SPHTTT UID] BT TNT 840 B 1 IT6 & T BT UNP &
1.350
2.273
3. 266
4.252

Correct Answer :-

e 273

(29)



The rate of flow of electric charges through a conductor is known as: / TP dlcIdh ¥ gloe ﬁg’*ﬁf
ATA & UATE B &R 1 Hgard! g

1. Electric potential / ﬁgﬁlﬂ faya
2. Electric current / ﬁ‘gga?f YRT
3. Electrical energy / ﬁ_{{qﬁ S|
4. Electric power / ﬁg’qﬂ RIEY]

Correct Answer :-

« Electric current / Tdgad 4RI

14) The volume of a cubical box is 19.683cm>. Find the length of its side. / TP TTOR fe &1

ST 19.683 T Y. T 1 THST Yol H1 AaTs 71d B
1.2.3 cm /2.3 94

2.0.27 cm/0.27 94,

3.2.7cm /2.7 QHL.

4.0.23 cm/0.23 9.

Correct Answer :-

e 2.7cm/2.7 IH.

15) The production of goods in a factory increased from 40000 to 50176 in two years. Find the annual
rate of growth of production. / T ot | 33[ I9f & I & UGG H 40000 | 50176 TB P Q'@
g3 | ST Bt Jieg BT ATffp &2 1 L |

1. 10%
2. 12%
3. 8%

4. 5%

Correct Answer :-

16) Both power and manure are provided by: / = 9 A f5as gRT UTaR 991 91e &l UeH fou
STd %

1. Biogas power plants / W9 1 fed TgT
2. Hydroelectric power plants / Gl?lﬁgﬂ?f RUESESE]
3. Thermal power plants / S Rfad T

(30)



4. Nuclear power plants / BRI RIESERE]

Correct Answer :-

« Biogas power plants / o9 T fad g

17) Which of the following statement is TRUE with respect to all living organisms? / g shifgasiia s

dedd A d s wTsuTaa 2
1. They expel waste products onIy/aﬁlT% Wmﬁmmﬁ%l

2. They grow and reproduce more members of their species only / CARILD a_d?f% 3R 3Tt Ui &
HTIF Tl BT JTEdIG B 6|

3. All of the above /B'Cl'iiaﬂﬂ'l-ﬂ

4. They need food and convert it to obtain energy only / d% b Yo & 3mazgddl Eﬁ?ﬁ% 3R Sl
T A o fod 39 aRafdd HRd g

Correct Answer :-

« All of the above /Wﬂlﬂ

18) Lymphiis: /m?ﬂ%:

1. Blood without WBC / S&egalT (g ek

2. Blood without RBC / 3RI™T Ifgel Yert

3. Plasma itself / WY Siiased

4. Plasma without platelets / g UfSpISNIERIZT Siaged

Correct Answer :-

« Blood without RBC / 3ITRETHT Q[%(‘l ad

19) Proteins are essential for ./ me= & 1%1'[{ GI'IW%.I

1. getting essential energy for the activities of the body / IRR P foparaff %@M ol U %ﬁﬂl
2. growth and development of new cells /T&F HIRIDBISA DI q@( 3R faomm

3. quick response of the cells to react /m%ﬂ;w\ll{-‘\&mlﬁﬁ @R &Iﬂm

4. decreasing blood pressure / Xad qld HH A P o

Correct Answer :-

» growth and development of new cells /ﬁﬁﬁ]ﬁﬁﬂ%g@ 3R g

20) Why do female mosquitoes need highly nutritious food in the form of blood? / HIGI ™Y &I I
F U N I NS YIS S Ta=aedl 491 gl 82

(31)



1. They have mouth parts to suck blood | TH WW?WH@W@W%I

2. They are carnivores /d mmél

3. To be able to lay mature eggs / gRuaq méﬁ%ﬁuaﬁ%ﬁm

4. They like to spread disease like malaria through blood /amémmﬁnﬁﬁmﬁﬁﬁﬂmm
FRA I

Correct Answer :-

e To be able to lay mature eggs/tlﬁqaa Wﬁ%@ﬁﬁﬁ%ﬁﬂl

21) Which of the following is not true about cell theory? / PP g R A= d I o
19 T8 87

1. Old cells divide to give new cells / HTFﬂ ﬁﬁmq fauTiorg 6'3[ Dh :l—ﬁc ﬁfﬁmq ATl %I
2. All living things are made up of cells / Tt geita aﬁq DIRGIA I [ Eﬁ?ﬁ %I
3. All cells are identical / T+t HIRIBIE THET Bt §

4. The structure of an organism depends on its cell organisation / Sd &1 U SUD BIRIDIT WS R
R Bt B

Correct Answer :-

« All cells are identical / GH} HIfR DU Iy Eﬂ?‘ﬂ%l

22) One of the following sets does not qualify to be a species. Which is that set? AECEEE R Uh

USITfa Hed™ N 781 81 98 B AT AT 82
1. The different animals living in the neighbourhood / 3TH-UT TS H I T3 faflis Ugy
2. Humans living in Africa, America and Europe / 3{Sh1da1, 3AR®T 3R U ¥ 7§ | A

3. Dogs belonging to different breeds — Alsatian, Labrador and Pomeranian / faf¥ s %1l & & —
ST, TSR MR UeRfg=

4. Different breeds of cows like Jersey and Holstein / T St faftrsr T S oY, Blese =

Correct Answer :-
« The different animals living in the neighbourhood / 3TH-UIY U@ﬁﬂ " g T% ICIRE Uyl
23) CANCELLED

After allowing a discount of 8% on the marked price, an article is sold for Rs.1288. Find its marked

price. / 3ifhd &I TR 8% DI Fe & & 91G, TP %] 1288 & B ol 15 | DT Sifcrd Yo [T Br |
1. Rs. 1354 /1354 300
2. Rs. 1345/ 1345300

3. Rs. 1542/ 1542 30
(32)



4. Rs. 1518/ 1518 3T

Correct Answer :-

e Rs. 1354/1354 31

24) Acid rain is caused by oxides of . | 3% 9uf & SATRITSS & BRI

gt &1
1. phosphorus and carbon / BIEpRY TUT BT

2. sulphur and nitrogen / HethX dl "ll‘.ig\l\ﬂ"l

3. sulphur and phosphorus / HehX d¥l BIEhRY

4. nitrogen and carbon / TSI TYUT BT

Correct Answer :-

« sulphur and nitrogen / JeWR qUT TSI

25) Alloys of which of the following metal are used for making aeroplanes and automobile
engine. / =T & 9 fr emg & fryrg &1 famm SR sifeiviarsa S99 a9 & forg ST fasan
EIGIE

1. Tron / TIGT
2. Aluminium / UAFRTH

3. Mercury / UIRT

4. Copper / didl

Correct Answer :-

» Aluminium / Q@’&rﬁﬂﬁ

26) Find the value of ‘a' if (6x + 5) is a factor of 6x2 - 7x + a. / Tl (6x + 5) UM WS & 6x% - 7x +
a BT, Tl 'a' BT HIH J1d B

1.5

Correct Answer :-

e -10



In the aquatic, food chain consisting of crane, phytoplanktons, tadpoles and fish, the position of crane

is: / STOTRT @Te] Tl foraH o1, UTqU Wad, csud 3R USdl g, b1 ! fRUfa gifi:
1. IV trophic level /IV Ui &R

2. I trophic level /IT Q¥ TR

3. I trophiclevel / I ifYedr TR

4, 111 trophic level / ITI Tif¥odr wR

Correct Answer :-

« IV trophic level /IV Ul dT W)

28) The perimeter of a rectangular field is 210 m. If its breadth is 40 m, then its area (m m2) is: /

gﬂmwﬁmqmuﬁmqmrﬁ 21 afe 3@l AeTE 40 Y. @, Y SHBT 8B (@ Hl. )

1. 2600
2. 2800
3.2820

4. 2540

Correct Answer :-

« 2600

29) The diagonals AC and BD of a square ABCD meet at '0O'. If OC = 16cm, then BD = i

i ABCD & fawuf Ac 3R BD fig 0 R @@ §1afd oc = 1687 &, dtBD= |
1. 30 cm / 30 JH
2.32 cm /32 GHI
3. 16 cm/ 16 &I

4. 28 cm /28 JHT

Correct Answer :-
e 32cm/32 99

30) The histogram depicts the marks obtained by 45 students of a class. How many students

obtained 50 or more marks and less than 70? / =1 s 45 wa’rmmamﬁ@ﬁm
a7 8 | favam Bt A 50 9 3 afr 70 A $0 i e frw &2

(34)



10 -
g
g
7
Noof Students 6 -
3 .
2 =
1 —
a 10 20 o 20 =0 G 70 aQ
Matks
ko
1. 16
2. 19
3. 15
4,18

Correct Answer :-

(35)



